d2|AL|E,DIN71412

=5 4Y/HIE o[0ix|

2{o| %4, El2l B, 45°

N

5
02
X0
d

lElA AR1.4305.

AEl A5 XElFE, Z|A 550 HV 1, 0194 =&,
AH|QIBA AR X}QdX OFR 2.

e

HEY O2la LEE HF(HED) LIAZE JI&LICH &b+
I_n_ og|- =|o|0.|| x4stsH |C

el M8 ElE

gfuich
aglA UE 3ot

IChH CHEXMo 2 AFE

=

=g 6H0|=
&t 710l 4gfstod 7H&

=M
.® 50
~ SW
h
~
Z= Qo
FEHS EFQJ EEEE] 2 A A D L L1 SW
max.
K1132.1206100 B SZHHIE 45° A2 AE 10,5 M6X1 23 55 9
K1132.1208100 B SZHHIE 45° A=Y AE 10,5 M8X1 23 55 9
K1132.1208125 B SZIHFE 45° A2 AE! 10,5 M8X1,25 23 55 9
K1132.1210100 B SZHHIS 45° A2 AE 11,5 M10X1 23 55 11
K1132.1210150 B SZHHHS 45° A2 AE! 11,5 M10X1,5 23 55 11
K1132.1218 B SZHHF 45° A2 AE! 11,5 R1/8 23 55 11
K1132.1214 B SZHHF2 45° A=2E AEl 12 R1/4 23 55 14
K1132.2206100 B SZHHS 45° A2 AEQIYA AE 10,5 M6X1 23 55 9
K1132.2208100 B SZHHIR 45° A2 AHQIE A AR 10,5 M8X1 23 55 9
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
== of ==
Jd2|AL|IE, DIN71412 #2Q| |8, EIQB,45° ZZ 8§, sZ
ES 2%
FEHS Ef el Bt 2 A A D L L1 SwW
max.
K1132.2208125 B SZHHE 45° A2 H AH[QIHA AE] 10,5 M8X1,25 23 55 9
K1132.2210100 B SZtHIS 45° W= AE|QIEA AE 11,5 M10X1 23 55 11
K1132.2210150 B SZH 45° H2H AHQIHA AE 11,5 M10X1,5 23 55 11
K1132.2218 B SZHIS 45° H=H 2E|QIEA A& 11,5 R1/8 23 55 11
K1132.2214 B SZHIS 45° W2 AE|QIEA AE 12 R1/4 23 55 14
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



